56 - 14=

What is the time now?

6 x 6=

901p = £

What is the place value of 3 in 3682

76 + 6=

155 minutes = hours minutes

Which is lighter 900g or 80g?

700+90+9=

4+5+6+3=

Write the number two thousand six hundred and
four.

£7.00 — 30p =

12,24,36,48 what is the next number in the se-
quence?

What shape is this ? @

On a digital clock the time is 11:45 this is
Minutes to

3 hours = minutes

What is Double 70

80 + b=
What is halve of 88?

3x8=



56 - 14=

What is the time now?
6 x 6=

901p = £

What is the place value of 3 in 3682

76 + 6=
155 minutes =

minutes

hours

Which is lighter 900g or 80g?
700+90+9=
4+5+6+3=

Write the number two thousand six hundred and
four.

£7.00 — 30p =

12,24,36,48 what is the next number in the se-
quence?

What shape is this ? 8

On a digital clock the time is 11:45 this is
Minutes to

3 hours = minutes

What is Double 70

80 + b=
What is halve of 88?

3x8=
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